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You should have the following for this examindtion;:
Answar hookler:
Marhemicatical fahles:
Scientific colcnlaior
This paper-consisis of THQ sections: A and B.
Answer ALL guestions in section A and any THREE guestion from section B.
Mg marks for each part of o quesiion cre s indicoaled.
Candidates should answer all guestions in Englisi.

This paper consists of 4 printed pages,

Candidatés should check the guestion paper to ascertain that all the
pages are printed as indicated and that no goestions are missing.
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SECTION A (40 marks)

Anewer ALL gquestions in s section.

Solve the equation:

Log:[ T4r + 4] —Fog.| 52 +7]=3

ra‘{;]q" b EE St el e ki | ir

(4 marks)
218 Evaluate I:-li ] 1531 - ‘.-':% : =Eesbn {4 marks)
P
3. Calculate the compound interest on Ksh 20,000 for 3 vears at 10% per annum. (4 marks}
pr=ct ; o iy e l
.- . Given that A-—[H HI and H—[ 6 al
Find (i) AB
&) A+ R
& (4 marks)
=1 Table | shows the distribation of the di:m-u::_m;;df balts produced by a lathe machine.
Table | o
:*UiamEe: 0-10 3 =M} 2() - 30 3t =< 4 - 50
Mo, ol balls 2 T s b © 8
- wmripdzzedl g 22— o T |
Determine the :m{txb: of the distribution. o = (4 marks)
a ol
L | = ] 24
[ : o
- et R e T o
[ Deterne the sum of the first 20 terms ﬁ?ﬁm SETTES gyl
o~ <7 epo— X1
24446+ E00T I EFleTIE P20 gt 287 20 cak Ake 53 ;T;?HF T (4 niarks)
T Express the recuming decimai (167 a3 4 fraction, i (4 marks)
4
% Conyert M 23, to binary, 5 {2 marks)
‘3‘:\.
1) 101011 tor decirral. Ty {2 marks)
g Determine the T.C.M of the numbers 28, 35 and 42, & (4 marks)
=G 2
1. Solve the couation 4* = BE= -3 ﬂ (4 mirks)
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SECTION B (50 marks)

Answer arny THREE guesiions from thiv section,

i
@ (%) simplify the expression

~ logi%-Siop.25
3logs 5 F lop, 635

(5 marks)

(b)  Table 2 shows the number of vehicks arriving for service in a petrol station in 40

weeks,
Table 2
No.ofweeks| 0-5 | 510 | 10-15)15-20{230-25 |25 39 335 | 35-40
M. of cars 3 £l & B T 5 4 5
& ) i i T i =
Calouiate thes; Z %
ST
| _BE
i) tRGAT o =T )
(1)  median— "= O
(1ii)  standard deviation. = -i,é\*"'"rc“
(15 mpcks)
f/é: i) Given the matrices :']—‘=[3 EJ amd H=f£ ljl
q & 3 e b
Detérmine (1) A+B
iy (ABP

(s marks}
i) Two forces Foand F, in newtans acting on a mechanical system satisfy the equations:
B AE =7
2F 4+ 5E_ =12
Use the inverse matrix method to solve the equations, {8 marks}

(&} Solve:
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Mechsnics & B and C were paid Ksh, SH00 for a panel beating yob. Aand B recenved

1’3— amd _ITE' Tospectively, ol the total antoumt, The balance was paidio C.

Calculate the
(1) fraction of C’s share:

(i)  amount each of them received, (3 marlcs)

The fifth, and the eleventh terms of an auﬂlmﬂ_umimmm 19 and 42

mespectively, Deétermine the

{1} 20™ term, (6 marks)

(11} sum of'the first 16 temms, {3 marks)

[he first lerm of 2 geometric progression Lﬁ:l;l while the smﬂz termiis 27, Deétermine

the tenth term of the progression. S_a =S frinarks)
15 AT

= 3 = w)

r.i.-l"F F
Teble 3, shows the marks obtained by 30 automotive engineenng stndents in a 3{1‘ ':P

mathematics tesl:
i i = :r_j
-ﬂ.___-—-_

Table 3 T
e = s L
) %5 f =
/A LT S SO0 e e
R ik EE i e g e
T P T 4] ik 3 =Iis
e MR b . S 0% 21
R R T 5 67
76 g5 | 86 Uﬁ__ _, 62 |

(i) AorfanEs this Gatiom a irequency table taking: i thie classes as 50.- 59, 60 - 69
(i1 hence-caleulate the mean mar

{ ¥ marks}
Tuble 4 pives the fengths of 21 screws produced by a machine ina Factory:
Table 4
Length (on)) 109 101912020 §30 -39 [40 - 49050 59 | 60- 69|
No. of strews 2 3 3 4 1 A 7. X
Use the data in fable 4 1o calonfate thie:
{1} b degile: q
(11} 60" percentile:
{HI}  upper quartife, (12 muarks)
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